EARAROBEEIERT — 2 N— IBISH —F

201853/ 17H () 23m@AE1H

mCZ—Z 74#H C2 ¥5%4EL ECEE IR
[AE4£] 1% :200,000" ~ 27%&:46,000” ~ 33%&:18,000 M . 43&:10,000 57 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< . _ W& . = . — ABERK (EB)
APIPR Y B L SR T ok I I o= e
I INATA—H— BT E—AN)T—=2 798 Ty =1L
S0 = [iim}2 . = . - FLRE (EE)
ol5l5|1TFFTIFF 5 Eo T N V2 (s
Ri*xfavk—-5— B:JV->T5%y b &R
N maE% - — RERE (&8
slglo| pAATL AN it 7 ua 5(55>9 1-2 37.4 3 (4_424) e B’
A TAT v — BIIRT—=NT=N FHE
o A o7 | IS 56.5 6-5 36.8| — 4 488 | WITFEX (EH)
4 9| AR—RAIN=4 56.0 @) () | (B JPNEH;
R:FTRTSA M) — BrxN—%N— v — V4B
e . - X — FEBF (£8)
5188 EAU WA A S * 4 ¥¢53.0 5(76)7 o4 .8 5 (5_028) KEEV)F -
T4 bT7—-EY B:¥IE£XI-FFK B FHI77-L4
= o FEEZE . = . = HETE (£8)
6RR| 7| A¥ T A AT £ & &) A L
R:T5v08%Y—F B:dr—Y>b34 Filll 8l
ssa A FHRAFIK = — EHEE (&H)
7 gl LTI N—F s 54.0 5(%6 &e 5.9 o ig? =mEE -
L:hT/RF47T B:LARLAN=h (B) #A3—-RKL—va>aE77r
S . HPEA = = HAERALE (1£8)
8 4| FRI-FCTAZ i 4 54.01_ 5&)3 7-7 39.3 8 (13_526) s
L:ZAN—3I2FFR—L BARUFAALTAR (ELAIEIIES
- # 5 | REEZ 1:02.5 9-9 N3 - 9 471 | PIEE (ERB)
9 3 HoFILE 56.0 (21 %) (o) | EHEH
T4 bT—EY BT —2T7NVE T —F (B) HBEa-KL—-—ra>aEI7
® I—F—@EBIERL
13—-7-
23—7F—
T =35r= 9,5,8,1,7,2,4,6,3
41—F— 5,9,1,8,2,7,4,6,3
[ RN
B 1 610M 794K 1-5 130 & 1-5 210 &R 1-5-9 290M
# B 1 1004 1-9 260 B E 19 180 EE 1= 2,610
5 1004 5-9 190H B H 1-5 1,180/
9 110/

ABICOVWTRDTEEERROODE. TR LIV,




